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= Overcurrent Trip (DCPS)
- Auctioneered Data (idl)

- Condjtioned Data (DCPS), Limits: [-8.0000000, 16.000Q00]
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—Full Alction (DCPS),ILimit = 1100.6000, Max.:14é50.0335, End \l/al. 1459.32264
- Action (idl), Max = 1459.36, End Val.= 1459.36 7
: Full Action (idl), Limit = 1100.00, Max.=1460.07, End//al. 1459.36

| Shot #: 2615, Param Tree: 72 _ _ _ _ _ _ _ _ _ 4/ _ _ _ _ _ _ _ _ _|
—Fault Time: 2.4826780

: Faults (L1) [AT,DT]: [-10.0000, 0.788975]

time
E_IDL, éircular, [-0.0b717415, 25.6146]
DCPS, Circular, [-0.0071741478, 25.
IDL, Shaped [Displaced], [-0.00753
DCPS, Shaped [Displaced], [-0.00Q,
Shot #: 2615, Param Tree: 72
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, 25.0150]
66116, 25.014

lllllllllllllllllll 111 lllllllllllllllllllllll

llllllllllllllllllll TTT lllllllllllllllllll

A
N
o
N
N
o



